Answer e 3*

PARAMETRIC & POLAR REVIEW

NO CALCULATORS
L e position of a particle moving in the sy-plane is given by the parametric equations x{t} = ' — 3% and
¥(£) = 12t — 3£, At which of the following points {x. ¥} is the particie at rest?
(Ay (-4.12) {B) [-3,6 (C) (-2,9) Dy {0,0) (B) {3,4]
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3. Which of the fagiﬁw%"ng gives the lengih of the path described by the garamelric equutions o{f) = 2+ 3t and
sy=i+rf fromr=010¢=17
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4. ; Let R be the region in the first quadrant that is bounded by the polar curves r =6
_ / and below by the line & =k . What is the area of R in terms of k?
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What is the slope of the line tanpenl to the polarcurve ¥ =cos @ atthe poist whare 8 = % ¥

A particle moves in the xy-plane with position given by (x{t}, ¥it}} = {5 ~ 2, 2 - 33 at thme 1. In which
direction is the particle moving as it passes theough the point {3, ~25 7
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{A) Upand to the le {D) Down and to the right
(B3 Down and to the left (E} Straight up
(€} Up and to the right




7. Which of the following integrals gives the area of the region that is bounded by the graphs of the polar
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8. _ _ .
It x(t) = 2 &4 and ¥t} = s +3, for ¢ > 0, thenin terms of 4, %:
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CALCULATOR ACTIVE

The figure shows the graphs of the polar curves r =2co0s(36) and r = 2. What is
the sum of the areas of the shaded regions?

(A} 0.858 (B) 3142 (€} 8.566 @ (E) 15.708

10, gy position of & pasticle moving in the xy-plane is given by the parametric functions x{t) ssd y{¢} for which
w1} = teint and y{t] = %™ +2. What is the slope of the line tangent fo the path of the particle el the point
afwhich f= 27 :

(&) 0.904 (€ 1.819 (D} 2.612 {E) 3.660

11. Let R be the region in the first quadrant that is bounded above by the polar curve
K r=4cosf and below by the line #=1. What is the area of R?

S (A 0anT (B} 046 (©) 0929 (D) 2.618 (Ey 5.819

12. . Bor ¥ =01, the composents of the velogity of & particle moving fn the xy-plane are given by the parametric
equations x'{} =ﬁ£§ﬂﬁ iy = keﬁl\ where' & is & positive constant. The line v = 4+ 3 is parallel tothe
fine tangent to the path of the particle atthegoint where ¢ = 2. What is the value of £7
(A} 0072 (B) 0.433 ( (B 0.803 (B} G828
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